

Wiesław Aleksander Dudek; Young Bae Jun
Zero invariant and idempotent fuzzy BCC-subalgebras

Mathematica Slovaca, Vol. 52 (2002), No. 2, 145--156

Persistent URL: <http://dml.cz/dmlcz/136859>

Terms of use:

© Mathematical Institute of the Slovak Academy of Sciences, 2002

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://project.dml.cz>

ZERO INVARIANT AND IDEMPOTENT FUZZY BCC-SUBALGEBRAS

WIESŁAW A. DUDEK* — YOUNG BAE JUN**

(Communicated by Anatolij Dvurečenskij)

ABSTRACT. We introduce the notion of zero invariant and idempotent fuzzy BCC-subalgebras in BCC-algebras with respect to an s -norm, and investigate some of their properties.

1. Introduction

BCK-algebras form an important class of algebras introduced by K. Iséki and were extensively investigated by several researchers. The class of all BCK-algebras is a quasivariety. K. Iséki posed an interesting problem (solved in [17]) whether the class of all BCK-algebras is a variety. In connection with this problem, Y. Komori introduced in [15] a notion of BCC-algebras, and W. A. Dudek (cf. [2], [3]) redefined the notion of BCC-algebras by using a dual form of the ordinary definition in the sense of Y. Komori.

L. A. Zadeh [20] introduced the notion of fuzzy sets. At present this concept has been applied to many mathematical branches, such as groups, functional analysis, probability theory, topology, and so on. In 1991, O. G. Xi [18] applied this concept to BCK-algebras, and he introduced the notion of fuzzy subalgebras (ideals) of the BCK-algebras with respect to minimum, and since then Y. B. Jun et al. studied fuzzy subalgebras and fuzzy ideals (cf. [11], [12], [13]), and moreover several fuzzy structures in BCC-algebras are considered (cf. [4], [5], [7], [8]).

In this paper, we introduce the notion of zero invariant and idempotent fuzzy BCC-subalgebras in BCC-algebras with respect to an s -norm, and investigate some of their properties. We consider also the direct product and s -normed product of zero invariant fuzzy BCC-subalgebras of BCC-algebras with respect to an s -norm.

2000 Mathematics Subject Classification: Primary 06F35, 03G25, 94D05.

Keywords: zero invariant, idempotent, s -norm, fuzzy BCC-subalgebra, direct product, S -product.

2. Preliminaries

In the present paper a binary multiplication will be denoted by juxtaposition. Dots we use only to avoid repetitions of brackets. For example, the formula $((xy)(zy))(xz) = 0$ will be written as $(xy \cdot zy) \cdot xz = 0$.

A non-empty set G with a constant 0 and a binary operation denoted by juxtaposition is called a *BCC-algebra* if for all $x, y, z \in G$ the following axioms hold:

- (i) $(xy \cdot zy) \cdot xz = 0$,
- (ii) $xx = 0$,
- (iii) $0x = 0$,
- (iv) $x0 = x$,
- (v) $xy = 0$ and $yx = 0$ imply $x = y$.

Any BCK-algebra is a BCC-algebra, but there are BCC-algebras which are not BCK-algebras (cf. [3]). Note that a BCC-algebra is a BCK-algebra if and only if it satisfies:

$$xy \cdot z = xz \cdot y. \tag{1}$$

On any BCC-algebra (similarly as in the case of BCK-algebras) one can define the natural ordering \leq by putting

$$x \leq y \iff xy = 0. \tag{2}$$

It is not difficult to verify that this order is partial and 0 is its smallest element. Moreover, in any BCC-algebra G , the following are true:

$$xy \leq x, \tag{3}$$

$$xy \cdot zy \leq xz, \tag{4}$$

$$x \leq y \implies xz \leq yz \ \& \ zy \leq zx. \tag{5}$$

A *fuzzy set* in a set G is any function $\mu: G \rightarrow [0, 1]$. For $\alpha \in [0, 1]$, the set $L(\mu; \alpha) := \{x \in G : \mu(x) \leq \alpha\}$ is called a *lower level set* of μ . A fuzzy set μ in a BCC-algebra G is called a *fuzzy BCC-subalgebra* of G if it satisfies the inequality:

$$\mu(xy) \geq \min\{\mu(x), \mu(y)\}$$

for all $x, y \in G$.

3. Idempotent fuzzy BCC-subalgebras

In the following, let G denote a BCC-algebra unless otherwise specified.

DEFINITION 3.1. ([19]) A binary operation S on the interval $[0, 1]$ is called an s -norm, if

- (S₁) $S(\alpha, 0) = \alpha,$
- (S₂) $S(\alpha, \beta) \leq S(\alpha, \gamma)$ whenever $\beta \leq \gamma,$
- (S₃) $S(\alpha, \beta) = S(\beta, \alpha),$
- (S₄) $S(\alpha, S(\beta, \gamma)) = S(S(\alpha, \beta), \gamma)$

for all $\alpha, \beta, \gamma \in [0, 1].$

Note that $\max\{\alpha, \beta\} \leq S(\alpha, \beta)$ for all $\alpha, \beta \in [0, 1].$ Moreover, $([0, 1]; S)$ is a commutative semigroup with 0 as the neutral element. In particular

$$S(S(\alpha, \beta), S(\gamma, \delta)) = S(S(\alpha, \gamma), S(\beta, \delta))$$

holds for all $\alpha, \beta, \gamma, \delta \in [0, 1].$

The set of all idempotents with respect to $S,$ i.e. the set

$$E_S = \{\alpha \in [0, 1] : S(\alpha, \alpha) = \alpha\},$$

is closed with respect to the operation $S.$ Hence (E_S, S) is a subsemigroup of $([0, 1], S).$ If $\text{Im}(\mu) \subseteq E_S,$ then a fuzzy set μ is called an *idempotent with respect to an s -norm S* (briefly, an S -idempotent).

DEFINITION 3.2. Let S be an s -norm. A function $\mu: G \rightarrow [0, 1]$ is called a *fuzzy BCC-subalgebra of G with respect to S* (briefly, an S -fuzzy BCC-subalgebra) if $\mu(xy) \leq S(\mu(x), \mu(y))$ for all $x, y \in G.$ If an S -fuzzy BCC-algebra μ of G is idempotent, we say that μ is an *idempotent S -fuzzy BCC-subalgebra* of $G.$

EXAMPLE 3.3. Let S be an s -norm defined by $S_0(\alpha, 0) = \alpha = S_0(0, \alpha)$ and $S_0(\alpha, \beta) = 1$ if $\alpha \neq 0 \neq \beta,$ where $\alpha, \beta \in [0, 1].$ Let $G = \{0, a, b, c\}$ be a BCC-algebra with the following Cayley table:

·	0	a	b	c
0	0	0	0	0
a	a	0	0	a
b	b	a	0	b
c	c	c	c	0

Define a fuzzy set $\mu: G \rightarrow [0, 1]$ by $\mu(0) = \alpha_0$, $\mu(a) = \mu(b) = \alpha_1$ and $\mu(c) = \alpha_2$, where $\alpha_0, \alpha_1, \alpha_2 \in [0, 1]$ with $\alpha_0 < \alpha_1 < \alpha_2$. Routine calculations give that μ is an S_0 -fuzzy subalgebra of G , which is not idempotent.

EXAMPLE 3.4. Let $G = \{0, 1, 2, 3, 4\}$ be a BCC-algebra with the Cayley table:

·	0	1	2	3	4
0	0	0	0	0	0
1	1	0	1	0	0
2	2	2	0	0	0
3	3	3	1	0	0
4	4	3	4	3	0

Let S_m be an s -norm defined by $S_m(\alpha, \beta) = \min\{\alpha + \beta, 1\}$ for all $\alpha, \beta \in [0, 1]$. Define a fuzzy set μ in G by

$$\mu(x) := \begin{cases} 1 & \text{if } x \in \{0, 1, 2\}, \\ 0 & \text{otherwise.} \end{cases}$$

It is easy to check that μ satisfies the inequality

$$\mu(xy) \leq S_m(\mu(x), \mu(y))$$

for all $x, y \in G$, and $\text{Im}(\mu) \subseteq E_{S_m}$. Hence μ is an idempotent fuzzy BCC-subalgebra of G with respect to S_m .

PROPOSITION 3.5. *Let S_m be the s -norm in Example 3.4 and let A be a BCC-subalgebra of G . Then a fuzzy set μ in G defined by*

$$\mu(x) := \begin{cases} 0 & \text{if } x \in A, \\ 1 & \text{otherwise} \end{cases}$$

is an idempotent fuzzy BCC-subalgebra of G with respect to S_m .

Proof. Let $x, y \in G$. If $x \notin A$ or $y \notin A$, then $\mu(x) = 1$ or $\mu(y) = 1$ and so $S_m(\mu(x), \mu(y)) = 1 \geq \mu(xy)$. Suppose that $x \in A$ and $y \in A$. Then $xy \in A$ and thus $\mu(xy) = 0 \leq S_m(\mu(x), \mu(y))$. Obviously, $\text{Im}(\mu) \subseteq E_{S_m}$, completing the proof. □

PROPOSITION 3.6. *If μ is an idempotent S -fuzzy BCC-subalgebra of G , then $\mu(0) \leq \mu(x)$ and $\mu(xy) \leq \max\{\mu(x), \mu(y)\}$ for all $x, y \in G$.*

Proof. Indeed, $\mu(0) = \mu(xx) \leq S(\mu(x), \mu(x)) = \mu(x)$ for all $x \in G$. Similarly

$$\begin{aligned} \max\{\mu(x), \mu(y)\} &= S(\max\{\mu(x), \mu(y)\}, \max\{\mu(x), \mu(y)\}) \\ &\geq S(\mu(x), \mu(y)) \geq \max\{\mu(x), \mu(y)\} \end{aligned}$$

for all $x, y \in G$. Hence $\mu(xy) \leq S(\mu(x), \mu(y)) = \max\{\mu(x), \mu(y)\}$ for all $x, y \in G$. \square

THEOREM 3.7. *Let μ be a fuzzy BCC-subalgebra of G with respect to an s -norm S and let $\alpha \in [0, 1]$. Then*

- (i) *if $S(\alpha, \alpha) = \alpha$, then the lower level set $L(\mu; \alpha)$ of μ is either empty or a BCC-subalgebra of G ;*
- (ii) *if $S(\alpha, \beta) = \max\{\alpha, \beta\}$, then the lower level set $L(\mu; \alpha)$ of μ is either empty or a BCC-subalgebra of G , and moreover $\mu(0) \leq \mu(x)$ for all $x \in G$.*

Proof.

(i) Assume that $S(\alpha, \alpha) = \alpha$ and $L(\mu; \alpha)$ is non-empty. If $x, y \in L(\mu; \alpha)$, then

$$\mu(xy) \leq S(\mu(x), \mu(y)) \leq S(\mu(x), \alpha) = S(\alpha, \mu(x)) \leq S(\alpha, \alpha) = \alpha,$$

which means that $xy \in L(\mu; \alpha)$. Hence $L(\mu; \alpha)$ is a BCC-subalgebra of G .

(ii) If $S(\alpha, \beta) = \max\{\alpha, \beta\}$, then S is an idempotent s -norm and by (i) every non-empty $L(\mu; \alpha)$ is a BCC-subalgebra of G . Moreover, for all $x \in G$, we get

$$\mu(0) = \mu(xx) \leq S(\mu(x), \mu(x)) = \max\{\mu(x), \mu(x)\} = \mu(x),$$

which completes the proof. \square

COROLLARY 3.8. *If μ in G is a fuzzy BCC-subalgebra of G with respect to an idempotent s -norm S , then every non-empty lower level set $L(\mu; \alpha)$ is a BCC-subalgebra of G .*

THEOREM 3.9. *Let S be an s -norm and let μ be a fuzzy set in G . If every non-empty lower level set $L(\mu; \alpha)$ is a BCC-subalgebra of G , then μ is an S -fuzzy BCC-subalgebra of G .*

Proof. Assume that $\mu(x_0y_0) > S(\mu(x_0), \mu(y_0))$ for some $x_0, y_0 \in G$. Then

$$\max\{\mu(x_0), \mu(y_0)\} \leq S(\mu(x_0), \mu(y_0)) < \alpha_0 < \mu(x_0y_0)$$

by taking $\alpha_0 := \frac{1}{2}[\mu(x_0y_0) + S(\mu(x_0), \mu(y_0))]$. It follows that $x_0, y_0 \in L(\mu; \alpha_0)$ and $x_0y_0 \notin L(\mu; \alpha_0)$. This is a contradiction, and hence μ satisfies the inequality $\mu(xy) \leq S(\mu(x), \mu(y))$ for all $x, y \in G$. \square

4. Zero invariant fuzzy BCC-subalgebras

DEFINITION 4.1. A fuzzy set μ in G is said to be a *zero invariant* (*0-invariant*) if $\mu(0) = 0$.

Note that the fuzzy BCC-subalgebra of G with respect to S_m in Proposition 3.5 is zero invariant.

In the following theorem, we give a condition for a fuzzy BCC-subalgebra of G with respect to an s -norm to be zero invariant.

THEOREM 4.2. *Let S be an s -norm and let μ be an S -fuzzy BCC-subalgebra of G . If there is a sequence $\{x_n\}$ in G such that*

$$\liminf_{n \rightarrow \infty} S(\mu(x_n), \mu(x_n)) = 0,$$

then μ is a zero invariant.

Proof. For any $x \in G$, we have $\mu(0) = \mu(xx) \leq S(\mu(x), \mu(x))$. Therefore $\mu(0) \leq S(\mu(x_n), \mu(x_n))$ for each $n \in \mathbb{N}$, and so

$$0 \leq \mu(0) \leq \liminf_{n \rightarrow \infty} S(\mu(x_n), \mu(x_n)) = 0.$$

It follows that $\mu(0) = 0$, i.e. μ is zero invariant. □

If μ is a fuzzy set in G and Θ is a mapping from G into itself, we define a mapping $\mu_\Theta: G \rightarrow [0, 1]$ by $\mu_\Theta(x) = \mu(\Theta(x))$ for all $x \in G$.

PROPOSITION 4.3. *Let S be an s -norm. If μ is an S -fuzzy BCC-subalgebra of G and Θ is an endomorphism of G , then μ_Θ is an S -fuzzy BCC-subalgebra of G . Moreover, if μ is a zero invariant, then so is μ_Θ .*

Proof. For any $x, y \in G$, we have

$$\begin{aligned} \mu_\Theta(xy) &= \mu(\Theta(xy)) = \mu(\Theta(x)\Theta(y)) \\ &\leq S(\mu(\Theta(x)), \mu(\Theta(y))) = S(\mu_\Theta(x), \mu_\Theta(y)). \end{aligned}$$

Hence μ_Θ is an S -fuzzy BCC-subalgebra of G .

Assume that μ is a zero invariant. Since $\Theta(0) = 0$, we get $\mu_\Theta(0) = \mu(\Theta(0)) = \mu(0) = 0$. This completes the proof.

Let f be a mapping defined on G . If ν is a fuzzy set in $f(G)$, then the fuzzy set $f^{-1}(\nu)$ in G defined by $[f^{-1}(\nu)](x) = \nu(f(x))$ for all $x \in G$ is called the *preimage* of ν under f .

THEOREM 4.4. *Let S be an s -norm. An onto homomorphic preimage of a zero invariant S -fuzzy BCC-subalgebra is also a zero invariant S -fuzzy BCC-subalgebra.*

Proof. Let $f: G \rightarrow H$ be a homomorphism from a BCC-algebra G onto a BCC-algebra H and let ν be a zero invariant S -fuzzy BCC-subalgebra of H . Then

$$\begin{aligned} [f^{-1}(\nu)](xy) &= \nu(f(xy)) = \nu(f(x)f(y)) \\ &\leq S(\nu(f(x)), \nu(f(y))) = S([f^{-1}(\nu)](x), [f^{-1}(\nu)](y)) \end{aligned}$$

for all $x, y \in G$, and

$$[f^{-1}(\nu)](0) = \nu(f(0)) = \nu(0) = 0.$$

Hence $f^{-1}(\nu)$ is a zero invariant S -fuzzy BCC-subalgebra of G . □

DEFINITION 4.5. Let μ be a fuzzy set in G and f a mapping defined on G . The fuzzy set μ^f in $f(G)$ defined by $\mu^f(y) = \inf_{x \in f^{-1}(y)} \mu(x)$ for all $y \in f(G)$ is called the *anti image* of μ under f .

An s -norm S on $[0, 1]$ is said to be *continuous* if S is a continuous function from $[0, 1] \times [0, 1]$ to $[0, 1]$ with respect to the usual topology.

THEOREM 4.6. *Let S be a continuous s -norm and let f be a homomorphism on G . If μ is a zero invariant S -fuzzy BCC-subalgebra of G , then the anti image of μ under f is a zero invariant S -fuzzy BCC-subalgebra of $f(G)$.*

Proof. Let $A_1 = f^{-1}(y_1)$, $A_2 = f^{-1}(y_2)$ and $A_{12} = f^{-1}(y_1y_2)$, where $y_1, y_2 \in f(G)$. Consider the set

$$A_1A_2 := \{x \in G : x = a_1a_2 \text{ for some } a_1 \in A_1, a_2 \in A_2\}.$$

If $x \in A_1A_2$, then $x = x_1x_2$ for some $x_1 \in A_1$, $x_2 \in A_2$, and so $f(x) = f(x_1x_2) = f(x_1)f(x_2) = y_1y_2$, i.e., $x \in f^{-1}(y_1y_2) = A_{12}$. Thus $A_1A_2 \subseteq A_{12}$. It follows that

$$\begin{aligned} \mu^f(y_1y_2) &= \inf_{x \in f^{-1}(y_1y_2)} \mu(x) = \inf_{x \in A_{12}} \mu(x) \\ &\leq \inf_{x \in A_1A_2} \mu(x) \leq \inf_{\substack{x_1 \in A_1, \\ x_2 \in A_2}} \mu(x_1x_2) \\ &\leq \inf_{\substack{x_1 \in A_1, \\ x_2 \in A_2}} S(\mu(x_1), \mu(x_2)). \end{aligned}$$

Now S is continuous, and therefore if ε is any positive number, then there exists a number $\delta > 0$ such that

$$S(x_1^*, x_2^*) \leq S\left(\inf_{x_1 \in A_1} \mu(x_1), \inf_{x_2 \in A_2} \mu(x_2)\right) + \varepsilon,$$

whenever $x_1^* \leq \inf_{x_1 \in A_1} \mu(x_1) + \delta$ and $x_2^* \leq \inf_{x_2 \in A_2} \mu(x_2) + \delta$. Choose $a_1 \in A_1$ and $a_2 \in A_2$ such that

$$\mu(a_1) \leq \inf_{x_1 \in A_1} \mu(x_1) + \delta \quad \text{and} \quad \mu(a_2) \leq \inf_{x_2 \in A_2} \mu(x_2) + \delta.$$

Then

$$S(\mu(a_1), \mu(a_2)) \leq S\left(\inf_{x_1 \in A_1} \mu(x_1), \inf_{x_2 \in A_2} \mu(x_2)\right) + \varepsilon.$$

Consequently

$$\begin{aligned} \mu^f(y_1 y_2) &\leq \inf_{\substack{x_1 \in A_1, \\ x_2 \in A_2}} S(\mu(x_1), \mu(x_2)) \\ &\leq S\left(\inf_{x_1 \in A_1} \mu(x_1), \inf_{x_2 \in A_2} \mu(x_2)\right) \\ &= S(\mu^f(y_1), \mu^f(y_2)). \end{aligned}$$

Moreover, $\mu^f(0) = \inf_{x \in f^{-1}(0)} \mu(x) \leq \mu(0) = 0$ and hence $\mu^f(0) = 0$. Thus μ^f is a zero invariant fuzzy BCC-subalgebra of $f(G)$ with respect to S . \square

5. Direct products and s -normed products

PROPOSITION 5.1. *Let S be an s -norm and let $G = G_1 \times G_2$ be the direct product of BCC-algebras G_1 and G_2 . If μ_1 (resp. μ_2) is a zero invariant S -fuzzy BCC-subalgebra of G_1 (resp. G_2), then $\mu = \mu_1 \times \mu_2$ is a zero invariant S -fuzzy BCC-subalgebra of G defined by*

$$\mu(x_1, x_2) = (\mu_1 \times \mu_2)(x_1, x_2) = S(\mu_1(x_1), \mu_2(x_2))$$

for all $(x_1, x_2) \in G$.

Proof. Note that $\mu(0, 0) = S(\mu_1(0), \mu_2(0)) = S(0, 0) = 0$. Let $x = (x_1, x_2)$ and $y = (y_1, y_2)$ be any elements of G . Then

$$\begin{aligned} \mu(xy) &= \mu((x_1, x_2)(y_1, y_2)) = \mu(x_1 y_1, x_2 y_2) \\ &= S(\mu_1(x_1 y_1), \mu_2(x_2 y_2)) \\ &\leq S\left(S(\mu_1(x_1), \mu_1(y_1)), S(\mu_2(x_2), \mu_2(y_2))\right) \\ &= S\left(S(\mu_1(x_1), \mu_2(x_2)), S(\mu_1(y_1), \mu_2(y_2))\right) \\ &= S(\mu(x_1, x_2), \mu(y_1, y_2)) = S(\mu(x), \mu(y)). \end{aligned}$$

Hence μ is a zero invariant S -fuzzy BCC-subalgebra of G . \square

Now we will generalize the idea to the product of $n \geq 2$ fuzzy BCC-subalgebras with respect to S . We first need to generalize the domain of s -norm to

$\prod_{i=1}^n [0, 1]$ as follows:

DEFINITION 5.2. The function $S_n : \prod_{i=1}^n [0, 1] \rightarrow [0, 1]$ is defined by

$$S_n(\alpha_1, \alpha_2, \dots, \alpha_n) = S(\alpha_i, S_{n-1}(\alpha_1, \dots, \alpha_{i-1}, \alpha_{i+1}, \dots, \alpha_n))$$

for all $1 \leq i \leq n$, where $n \geq 2$, $S_2 = S$ and $S_1 = \text{id}$ (identity).

Using the induction on n , we have the following two lemmas.

LEMMA 5.3. For any s -norm S and every $\alpha_i, \beta_i \in [0, 1]$, where $1 \leq i \leq n$ and $n \geq 2$, we have

$$\begin{aligned} S_n(S(\alpha_1, \beta_1), S(\alpha_2, \beta_2), \dots, S(\alpha_n, \beta_n)) \\ = S(S_n(\alpha_1, \alpha_2, \dots, \alpha_n), S_n(\beta_1, \beta_2, \dots, \beta_n)). \end{aligned}$$

LEMMA 5.4. For an s -norm S and every $\alpha_1, \dots, \alpha_n \in [0, 1]$, where $n \geq 2$, we have

$$\begin{aligned} S_n(\alpha_1, \dots, \alpha_n) &= S(\dots S(S(S(\alpha_1, \alpha_2), \alpha_3) \alpha_4), \dots, \alpha_n) \\ &= S(\alpha_1, S(\alpha_2, S(\alpha_3, \dots S(\alpha_{n-1}, \alpha_n) \dots))). \end{aligned}$$

THEOREM 5.5. Let S be an s -norm and let $G = \prod_{i=1}^n G_i$ be the direct product of BCC-subalgebras $\{G_i\}_{i=1}^n$. If every μ_i is a zero invariant S -fuzzy BCC-subalgebra of G_i , where $1 \leq i \leq n$, then $\mu = \prod_{i=1}^n \mu_i$ defined by

$$\mu(x_1, x_2, \dots, x_n) = \left(\prod_{i=1}^n \mu_i \right) (x_1, x_2, \dots, x_n) = S_n(\mu_1(x_1), \mu_2(x_2), \dots, \mu_n(x_n))$$

is a zero invariant S -fuzzy BCC-subalgebra of G .

P r o o f . We first note that

$$\mu(0, 0, \dots, 0) = S_n(\mu_1(0), \mu_2(0), \dots, \mu_n(0)) = S_n(0, 0, \dots, 0) = 0.$$

Let $x = (x_1, x_2, \dots, x_n)$ and $y = (y_1, y_2, \dots, y_n)$ be any elements of G . Then, by the above Lemma 5.3,

$$\begin{aligned} \mu(xy) &= \mu(x_1 y_1, x_2 y_2, \dots, x_n y_n) \\ &= S_n(\mu_1(x_1 y_1), \mu_2(x_2 y_2), \dots, \mu_n(x_n y_n)) \\ &\leq S_n\left(S(\mu_1(x_1), \mu_1(y_1)), S(\mu_2(x_2), \mu_2(y_2)), \dots, S(\mu_n(x_n), \mu_n(y_n))\right) \\ &= S\left(S_n(\mu_1(x_1), \mu_2(x_2), \dots, \mu_n(x_n)), S_n(\mu_1(y_1), \mu_2(y_2), \dots, \mu_n(y_n))\right) \\ &= S(\mu(x_1, x_2, \dots, x_n), \mu(y_1, y_2, \dots, y_n)) = S(\mu(x), \mu(y)). \end{aligned}$$

Hence μ is a zero invariant S -fuzzy BCC-subalgebra of G . □

DEFINITION 5.6. Let S be an s -norm and let μ and ν be two fuzzy sets in G . Then the S -product of μ and ν , denoted by $[\mu \cdot \nu]_S$, is defined by

$$[\mu \cdot \nu]_S(x) = S(\mu(x), \nu(x))$$

for all $x \in G$.

Obviously $[\mu \cdot \nu]_S$ is a fuzzy set in G such that $[\mu \cdot \nu]_S = [\nu \cdot \mu]_S$.

THEOREM 5.7. Let S be an s -norm and let μ and ν be zero invariant S -fuzzy BCC-subalgebras of G . Let S^* be an s -norm which dominates S , i.e.,

$$S^*(S(\alpha, \gamma), S(\beta, \delta)) \leq S(S^*(\alpha, \beta), S^*(\gamma, \delta))$$

for all $\alpha, \beta, \gamma, \delta \in [0, 1]$. Then S^* -product $[\mu \cdot \nu]_{S^*}$ is a zero invariant S -fuzzy BCC-subalgebra of G .

PROOF. Note that $[\mu \cdot \nu]_{S^*}(0) = S^*(\mu(0), \nu(0)) = S^*(0, 0) = 0$. Hence $[\mu \cdot \nu]_{S^*}$ is zero invariant. For any $x, y \in G$, we have

$$\begin{aligned} [\mu \cdot \nu]_{S^*}(xy) &= S^*(\mu(xy), \nu(xy)) \\ &\leq S^*(S(\mu(x), \mu(y)), S(\nu(x), \nu(y))) \\ &\leq S(S^*(\mu(x), \nu(x)), S^*(\mu(y), \nu(y))) \\ &= S([\mu \cdot \nu]_{S^*}(x), [\mu \cdot \nu]_{S^*}(y)), \end{aligned}$$

which proves that $[\mu \cdot \nu]_{S^*}$ is an S -fuzzy BCC-subalgebra of G . □

Let $f: G \rightarrow G'$ be an onto homomorphism of BCC-algebras. If μ and ν are zero invariant S -fuzzy BCC-subalgebras of G' , then the S^* -product $[\mu \cdot \nu]_{S^*}$ is a zero invariant S -fuzzy BCC-subalgebra of G' whenever S^* dominates S . Using Theorem 4.4, the preimages $f^{-1}(\mu)$, $f^{-1}(\nu)$ and $f^{-1}([\mu \cdot \nu]_{S^*})$ are zero invariant S -fuzzy BCC-subalgebras of G .

THEOREM 5.8. Let S and S^* be s -norms in which S^* dominates S . Let $f: G \rightarrow G'$ be an onto homomorphism of BCC-algebras. For any zero invariant S -fuzzy BCC-subalgebras μ and ν of G' , we have

$$f^{-1}([\mu \cdot \nu]_{S^*}) = [f^{-1}(\mu) \cdot f^{-1}(\nu)]_{S^*}.$$

PROOF. Let $x \in G$. Then

$$\begin{aligned} f^{-1}([\mu \cdot \nu]_{S^*})(x) &= [\mu \cdot \nu]_{S^*}(f(x)) \\ &= S^*(\mu(f(x)), \nu(f(x))) = S^*([f^{-1}(\mu)](x), [f^{-1}(\nu)](x)) \\ &= [f^{-1}(\mu) \cdot f^{-1}(\nu)]_{S^*}(x), \end{aligned}$$

completing the proof. □

THEOREM 5.9. *Let S be a continuous s -norm, f a homomorphism on G , and let μ and ν be zero invariant S -fuzzy BCC-subalgebras of G . If an s -norm S^* dominates S , then:*

$$[\mu^f \cdot \nu^f]_{S^*} \subseteq ([\mu \cdot \nu]_{S^*})^f.$$

Proof. Using Theorem 5.7 and Theorem 4.6 we know that the S^* -product $[\mu \cdot \nu]_{S^*}$ is a zero invariant S -fuzzy BCC-subalgebra of G , and that the S^* -product $[\mu^f \cdot \nu^f]_{S^*}$ is a zero invariant S -fuzzy BCC-subalgebra of $f(G)$. Moreover, for each $y \in f(G)$, we have

$$\begin{aligned} ([\mu \cdot \nu]_{S^*})^f(y) &= \inf_{x \in f^{-1}(y)} [\mu \cdot \nu]_{S^*}(x) = \inf_{x \in f^{-1}(y)} S^*(\mu(x), \nu(x)) \\ &\geq S^*\left(\inf_{x \in f^{-1}(y)} \mu(x), \inf_{x \in f^{-1}(y)} \nu(x)\right) \\ &= S^*(\mu^f(y), \nu^f(y)) = [\mu^f \cdot \nu^f]_{S^*}(y), \end{aligned}$$

and hence $[\mu^f \cdot \nu^f]_{S^*} \subseteq ([\mu \cdot \nu]_{S^*})^f$. □

REFERENCES

- [1] ABU OSMAN, M. T.: *On some product of fuzzy subgroups*, Fuzzy Sets and Systems **24** (1987), 79–86.
- [2] DUDEK, W. A.: *The number of subalgebras of finite BCC-algebras*, Bull. Inst. Math. Acad. Sinica **20** (1992), 129–136.
- [3] DUDEK, W. A.: *On proper BCC-algebras*, Bull. Inst. Math. Acad. Sinica **20** (1992), 137–150.
- [4] DUDEK, W. A.—JUN, Y. B.: *Fuzzy BCC-ideals in BCC-algebras*, Math. Montisnigri **10** (1999), 21–30.
- [5] DUDEK, W. A.—JUN, Y. B.: *Normalizations of fuzzy BCC-ideals in BCC-algebras*, Math. Moravica **3** (1999), 17–24.
- [6] DUDEK, W. A. JUN, Y. B.: *Fuzzifications of ideals in BCC-algebras*, Glas. Mat. Ser. III **36(56)** (2001) (To appear).
- [7] DUDEK, W. A.—JUN, Y. B.—HONG, S. M.: *On fuzzy topological BCC-algebras*, Discuss. Math. (General Algebra and Applications) **20** (2000), 77–86.
- [8] DUDEK, W. A.—JUN, Y. B.—STOJAKOVIĆ, Z.: *On fuzzy ideals in BCC-algebras*, Fuzzy Sets and Systems **123** (2001) (To appear).
- [9] DUDEK, W. A.—KIM, K. H.—JUN, Y. B.: *Fuzzy BCC-subalgebras of BCC-algebras with respect to a t -norm*, Scientiae Math. **3** (2000), 99–106.
- [10] DUDEK, W. A.—ZHANG, X. H.: *On ideals and congruences in BCC-algebras*, Czechoslovak Math. J. **48(123)** (1998), 21–29.
- [11] HONG, S. M.—JUN, Y. B.: *Fuzzy and level subalgebras of BCK(BCI)-algebras*, Pusan Kyongnam Math. J. (presently, East Asian Math. J.) **7** (1991), 185–190.
- [12] JUN, Y. B.—HONG, S. M.—KIM, S. T.—SONG, S. Z.: *Fuzzy ideals and fuzzy subalgebras of BCK-algebras*, J. Fuzzy Math. **7** (1999), 411–418.

- [13] JUN, Y. B.—HONG, S. M.—ROH, E. H.: *Fuzzy characteristic subalgebras/ideals of a BCK-algebras*, Pusan Kyongnam Math. J. (presently, East Asian Math. J.) **9** (1993), 127–132.
- [14] JUN, Y. B.—ZHANG, Q.: *Fuzzy subalgebras of BCK-algebras with respect to a t-norm*, Far East J. Math. Sci. **2** (2000), 489–495.
- [15] KOMORI, Y.: *The class of BCC-algebras is not a variety*, Math. Japon. **29** (1984), 391–394.
- [16] MENG, J.—JUN, Y. B.: *BCK-Algebras*, Kyung Moon SA Co., Seoul, 1994.
- [17] WROŃSKI, A.: *BCK-algebras do not form a variety*, Math. Japon. **28** (1983), 211–213.
- [18] XI, O. G.: *Fuzzy BCK-algebras*, Math. Japon. **36** (1991), 935–942.
- [19] YU, Y.—MORDESON, J. N. - CHENG, S. C.: *Elements of L-algebra*. In: Lecture Notes in Fuzzy Math. and Comput. Sci., Creighton Univ., Omaha, Nebraska, 1994.
- [20] ZADEH, L. A.: *Fuzzy sets*, Inform. and Control (Shenyang) **8** (1965), 338–353.

Received February 29, 2000

Revised February 7, 2001

* *Institute of Mathematics*
Technical University of Wrocław
Wybrze.ze Wyspiańskiego 27
PL-50-370 Wrocław
POLAND
E-mail: dudek@im.pwr.wroc.pl

** *Department of Mathematics Education*
Gyeongsang National University
Chinju 660-701
KOREA
E-mail: ybjun@nongae.gsnu.ac.kr